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2019 (S) A

SSC PART-Il (10th CLASS)

GENERAL MATHEMATICS GROUP-|

TIME ALLOWED: 2.10 Hours

MAXIMUM MARKS: 60
NOTE: -

Write same question number

. .TJ/ UJ JJ 7
210 = &
60 = AF
-f_z,);u:.;.g.gmé E;»/',}s’ﬂjsf;}dlﬂﬁs{géwlﬁ o

SUBJECTIVE _fLe

and its part number on answer book, as given in the question paper.

2. Attempt any six parts.

812
12xy-

(i)~ Convertinto lowest form.
{it)

Define Surds.
Factorize. 36d? —1

(i)
(iv)

Factorize. a® - 2ab + b2 - 92

(v)

/

(Vi) Factorizess27a’ o+ |

(vii) Define LCM:
(vili) Find HCF of abxy, a’be

(ix) FindLCMof x?yz, xp?z, xyz?

3. Attempt any six parts

(i)  Solve the inequality. Ex > Z (x - 1)
(i) Solve. [3x+4|=9

(i)  Define Absolute Value.

(iv) Solve. (2x+3)(x-2)=0

(v) Define Quadratic Equation.

(vi) Solve. 2x? +15x—8=0

(viiy Define Square matrix with example.
(vii) Find x and V if

(i) IfA:[j1 ;J and B:{_z 1

(if J}J)

Find P(1)if P(x)=x* +3x% = 5x+9

SECTION-l Jil.o

12=2x6 Eifevnlinge 3 24 )y
&Y At By
12xy

POy=x*+3x7 < sx 9 S obr PO )

; f/J/Jﬁ/,w (i
3642 —1 . Z$F ()
2 e W)

a? ~2ab + b - 9¢
27% +1 ZE6F (i)

(& 78 Pons i
Gbxy atben-g e (il

P g s (v

xzyz, xyzz, xyz

12=2x6 _c,/j..,un_ ;w.».-.dl 34y

oo G- gled )

3x+4]=9 gAf i)

IS d T i

(2x+3)(x-2)=0 -J/f (v

s flendsn W)

2% +15x ~8=0 /S (vi)

e AL, (i

[Xf; 3y1_ 4J = Li ;1! Ao v s i)

2 'L 3] =
A= /1
1:|Jif {4 SJJ

P 4
A+B=B+ A JrukmB= 6

2
} thenprovethat 4+ B=RB+ 4
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(2) } , N
4. Attempt any six parts. 12=2x6 -é{faL’ﬁ.ﬁlZ'mj a’-d’( Ay

()  Define a Obtuse Angle. S8 )
(i) Define a Circle. -“ébé’/‘)b(ﬂf'i (il
(i) Write the equation for the given triangle and find  x . -ép’“’ X /J_»,I,L»st‘u) (iii)

(iv) Define the circum-center of the triangle. & J/‘J/}/VLMM (iv)
(v} Construct a square whose each side is 5 cm. ,ﬁ}fu”'f 5 (%:K&Z__w/ug (v)
(vi) Define the Pythagoras Theorem. ..Z - /U&-Jf B (i)
(vii) Find the volume of the cube whose each edge is 8 m. < /8 ubf;;!féf)"ﬁ K_:;f,ﬁ (vii)
(viii) Define the Origin. E S (i)
(ix) Find the distance between the points. 7, =35, (-3,33 Eprleigenl 16 (i)

SECTION-I| (2.2 “ /
NOTE: Attempt any three questions.  24=8x3 -égj&’g!ﬁﬁom}wf@d[ s,

.3 1. ;o
5(A) If x=4+/5+2,thenfind the values q_‘é(}"u:‘-’kf i o Lz sox o ox=+5+2 Jt (L5
X

1
of x+— and 52 otk

% e
(B) Factorize. 8x° — 6% — 9y + 27)° 8x3 - 6x — 9y 427)° .&¢f (L)
B.(A) Find L.C.Mby factorization. w3 Gyt 156 150 -;éplvd’uwwfm (3)-6
(B} Solve. 3(x+5)>2(x+2)+8 3(x+5)>2(x+2)+8~'f'—.{1y ('—‘)
7.(A) Solve using quadratic formula. 10x% - 5x =15 10x2 - 5x =15 -U:./UFC—MU;!L;)JM (3.7

(B) Draw an isosceles triangle with -k 60° ,sli&nb’ubslﬂff 5 { ol o b Ul ()
length of the equal sides 5 cm and the angle included between themis 60° .

-
|
I

. L %] 2 2.
8.(A) If A:B ﬂ then prove that 4~'4 =1 A4 =1 Yk A:[2 8} A ()-8

(B) Find the solution set by using Cramer'srule. ~ x+2y =1, x+3y=5 - _’/r)“’;rfc.ﬁg)’ﬁﬁf (<)

9.(A) Calculate the radius of a sphere of volume 2 -272 O .?q./"'-’./f 850 (? Kﬁép“’ufu&_ £ (.9

850m° . Take 7 tobe 373 |

(B) Show that the points 4 (=11, s C(7.3) <B(3,2) cA(-11) WSS (L)
B(32) , C(1,3) arecollinear

34-2019(S): DO (MULTAN)
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2019 (5) A

SSC PART-ll (10th CLASS)

PAPER CODE
NUMBER: 3261

GENERAL MATHEMATICS GROUP- o) 2

TIME ALLOWED: 20 Minutes OBJECTIVE (%% 2020 = &y

MAXIMUM MARKS: 15 15= Af
Je o L A3l g erse gt i E 2l Q607 - L4 D 5 C B A RS H Y I R
/;,/_leu‘i gLULJf/dfqufJL):/ 3(_)3/f: g!’J!dwulfH}aubu :*’d/z_// Jok L d..-/rJUJ/UBJLJC_.J Z:)
Note: you have four choices for each objective type question as A, B, C and D. The choice -u‘/ J'/fr..«uff
which you think is correct, fill that bubbie in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1
(1) (a-b)(a®+ab+b%)=

(a——b)(a2+ab+szxk

A Ay

(A) (a-b)° (B) (a+b) (C) @ -5 (D) &> + 5’

(2) Surds can be multiplied if they are of the: iuﬁu/(l‘LCfC @@J[ﬁyw (2)
(A) Same order d/,_wuli B) Order2 (s (C) Different order d/umuf? (D)Order n 0 non

(3) A cubic polynomial is of degree: bk G (3)
(A) 0 (8) 1 () 2 (D)3 _

(4) Factorization of x” + »’is: 2] P+ @
(B) (x-y) (x> +)?) (B) (x+y)(x" ~xy+)*)
(C)(x“y)(xzwxy+y2) (D)(x—y)(x2+xy'+y2)

(5) HCF of 15g7s , 6pgr is: -‘—fy"w 6pgr . 15grs  (5)
(A) 3qr (B) 3pgr (C) 3pgrs (D)1 15pgrs

(6) The symbol ‘< stands for: -‘LJIG?U" s o (6)
(A) Less than <t (B) Equal to"c- 2L
(C) Less than or equal to < slsitsfe (D) Greater than or equal to < z}/%<

(7) Solutionsetof |x —3|=>5is: -;.JJ”K |x=3|=5 (7)
A {-8,-2} B) {8.2} © {-8.2} 0) {8.-2

(8) Factorization of 2x? — 3x is: ftf 2x* = 3x  (8)
(A) 0 (B) x (2x =3) (C) 2x? - 3x (D) 3x - 252

(9) Solution setof x> —=5x+6=0 Is: e i x? -5x+6=0 (9)
A) {3} ) {2} ) {2,3} o) {2, =3 §

(10) Two matrices with the same order and A W L Bl L (10)

equal corresponding elements are called: (A) Equal matrices </ sl
(B) Diagonal matrices /6§ 7 (C) Square matrices /60, (D) Unequal matrices /(s

(11) In a unit matrix, diagonal elements are: Ll AR A (1)
(A) 3 (B) 2 (C) 1 (D) 0 )

(12) A straight angle contains: b (12)
(A) 90° (B) 180° (C) 270° (D) 360°

(13) The medians of a triangle are: Slng s Ll (13)
(A) Concurrent %“/{,aﬁ,..g (B) Collinear &% (C) Non-concurrent BAS (D) Four b

(14) Area of a square with side 's' is: ,a‘_l.“yzjjg ot s L‘f”ﬁfd/u (14)
(A) s (B) 4s (C) 2s D) s?

(15) The coordinates of origin are: plrehslie  (15)
(A) 0 (B) (1,0) (C) (0,0) (D)} (0. 1)

34(0bj)( ¥)-2019(S): D> (MULTAN)
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PAPER CODE
NUMBER: 3263

GENERAL MATHEMATICS GROUP-
OBJECTIVE (.0 =

TIME ALLOWED: 20 Minutes

2019 (S) A
SSC PART-I {10th CLASS)

MAXIMUM MARKS: 15

15= Af

S o L/L/ﬂ;_’&h‘#&&z{.ww_m c..u“ s bl Jivg g d¥di GEL D s C B ARl i LS
{24 fa.b';f/d)u’“._xrﬂ}’d,. oy !.,!;/f (ww., !BJ’AJUJ)""J&.-// Sl ! d._//;;'/w/f Ju.:,\_f i

Note you have four choices for each objective type question as A, B, C and D. The choice -J/ J/, Ul

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questicns o n this sheet of OBJECTIVE PAPER.

Q.No.1
(1) Two matrices with the same order and
equal corresponding elements are called:
(B) Diagonal matrices /67
(2) Inaunit matrix, diagonal elements are:

(A) 3 (B) 2
(3) Astraight angle contains:
(A) 90° (B) 1807

(4) The medians of a triangle are:

(A) Concurrent f}gﬁ‘.{l (B} Collinear 1/
(5) Area of a square with side 's" is:

(A) s (B) ds
(6) The coordinates.of origin are:

(A) 0 B) (1,0)
(7) (a-b)(a® *ab+h2)—_ .

(A)(a—b) {)(aH’;)
(8) Surds can be multiplied if they are of the:

(A) Same order Jauull  (B) Crder2 s
(9) Acubic polynomial is of degree:

(A)Q (B) 1
(10) Factorization of x° + y° is:

(A) (x=3)(x*+y7)

(C) (x=y)(x* ~—xy+y")
(11) HCF of 15¢rs , 6pgr is:

(A) 3gr (B} 3pgr
(12) Thesymbol < stands for:

(A) Less than « e

(C) Less than or equal to < sizyife
(13) Solu tionsetof [x - 3|=5 is:

A {-8 -2} B) {82}
(14) Factorization of Zx? = 3x is:
(A) G (B) x (2x —3)
(15) Solution setof x* - 5x +6 =0 is:
A {3} B) {2}

(C) Square matrices b5,/

1 /{Ulr
Gl L fL P (1)
(A} Equal matrices ¥ fsls
(D) Unequal matrices JGisi#
Ry TV 0 2 Y RS
(C) 1 (D) 0
ok (3)
(C) 270° (D) 360°
Slnebasl ek (4)

(C) Non-concurrent Ju(?;f (D) Four &

il o s SRS ()

-

() 25 D) «*
Bl ()
(C)(0,0) D) (0,1)
(a-by(a®+ab+by= (1)
€) & -’ )& +&°

i-‘.).»fu,ﬁ.:.'-ﬁ‘c lgd)...f/%?'/:b» (8)

(C) Different order d/u,-?u..él? (D) Order n Lj n o

btk s (9
(C) 2 (D)3
<S8 4y (10)
(B) (x=y)(x* +xy+ %)
D) (x+y)(x* —xv+y*)
P bpgr < 1sgrs (1)
(C) 3pgrs (D) 5pgrs
__df,ug < e (12)
(B) Equal to & 41.L
(D) Greater than or equai to el
oS |x-3]=5 (13

€ {-82} (D) {8, -2}
v{-dfu( 2x2 —3x (14)
(C) 2x% - 3x (D) 3x — 252
..4:_;.,ru(x -5x+6=0 (19)
(C) {2, 3} D) {-2, -3 }
34(0bj) X 3¢ )2019(S)- 557> (MULTAN)
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2019 (S) )
$SC PART-I (10th CLASS)

PAPER CODE
NUMBER: 3265

GENERAL MATHEMATICS GROUP-|

TIME ALLOWED: 20 Minutes

0 = u{}j Ub.k)d/.z

OBJECTIVE (/%2 =

MAXIMUM MARKS: 15

15=/f

S o | S 3ol neene u:f.fJEZéJ&VLJfrﬁ{QKL}fﬂ -ufa”.fé.) D CBA ;Q'ﬁ;ﬁ)?&d"’ﬁ -
EFF VS ~€L‘ekﬁu¢‘i’.}g}(d::u:"’d/i.):hg }{Js}fj _bfmr‘jbli'g'ﬁu)iiwc.«.w‘di./z oy L)jf;fu;?bny;ﬂ.g § i
Noie‘: ’you have four choices for each objective type question as A, B, C and D. The choice _uj)f:g)’?}-:allfr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve guestions on this sheet of OBJECTIVE PAPER.

Q.No.1
(1) Solution setof |x —3| =5 is:
(A {-8.-2} ®) {8.2}

(2) Factorization of 2x% - 3x is:

(A) 0 (B) x (2x-3)
(3) Solution setof x* — 5x + 6 =0 is:
(A) {3} (B) {2 }

(4) Two matrices with the same order and
equal corresponding elements are called:
(B) Diagonal matrices «/¥f /s
(5) In a unit matrix, diagonal glemenis.are.

(A) 3 (B) 2
(6) A straight angle contains:
(A) 90° (B} 180

(7) The medians of a triangle are:

. /,‘.Jﬁr

ean ¥ |x-3l=5 0 (1)

(C) {-8,2} (D) {8,-2}
-éf-de[ 2x% - 3x (2)
(C) 2x? - 3x (D) 3x - 2x*
¢9¢{J’€x2—5x+6:0 (3)
) {23} 0} {-2 =3}

b Mo p LS )
(A) Equal matrices </ ¥(fsl-

(C) Square matrices /§f,» (D) Unequal matrices St

AL AR A 6)
(C) 1 (D) 0 .
_e.tﬂ,;»b/ﬁfvfslj (6)
(C) 270° (Dy'360°
gplngaled (7)

(A) Concurrent ;//,Lﬁa_f' (B) Collinear k54 (C) Non-concurrent Jw(?/ (D) Four /b

(8) Area of a square with side 's' s

(A) s (B) 4s
(9) The coordinates of origin are:

(A) O (B) (1,0)
(10) (a'- b) (a® + ab + b*) =

(A) (a—b) (B) (a+b)
(11) Surds can be multiplied if they are of the:

(A) Same order u’:;nub? (B) Order 2 .
(12) A cubic polynomial is of degree:

(A) 0 (B) 1
(13) Factorization of s

(A) (x=y)(x+y")

) (x-y)(x*=xy+y*)
(14) HCF of 15grs , 6pgr is.

(A) 3gr (B) 3pqr
(15) Thesymbol < stands for:
(A) Less than <t

(C) Less than or equal to &zt

el o s TG @)

(C) 2s D) s
Slnehwle  (9)
(C) (0,0) (D) (0, 1)
(a—b) (a® + ab + p2y=___ (10
C) &° -b° (D) & +b°

e Fob AP e (1)

(C) Different order Juﬁ.u.:ﬂ:'; (D)Order J n 2

_.ﬁl.t'ﬁ,.'?ﬂ{u:.’,?/(j-})/ (12)
(C) 2 D)3
cGf ey 1)
B) (x-y) (x> +xy+y")
(D) (x+y)(x2=xy+y")
-.:;_r‘y'ﬂ&{ 6pgr  « 15grs {14)
(C) 3pgrs (D) 1Spgrs
3 s e (15)
(B) Equal to c412L
(D) Greater than or equal to «lzlize

S4(0h)( 37 7 37)2019(5)-7 57D CMULTAN)
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|PAPER CODE
NUMBER: 3267

GENERAL MATHEMATICS GROUP-I
OBJECTIVE ($3/.2

TIME ALLOWED: 20 Minutes

2019 (S)
SSC PART-lI (10th CLASS)

Ay

J.L:-‘; - 57:-/5/( UQLJJ/.Z

L 20 = o

MAXIMUM MARKS: 15

- . e " " # ' £
A | /:U;//'J,:a'w"‘bfih’[, AR e LJ;)UZ’::.;.-M.VZ:JU‘;{LE_S’{_}-‘K SEEL D s CB A Qyjﬁégi,lgiu“fﬂ

15= Af

RGP |

{.g‘;.g'fr’u'l -nggLJu’ﬁjtzéfu’:ov“U/i,J;é }(,J;jf: _me-zlelih,,lﬁo,ﬂu:..wﬂdti,)}: Jok v d:-/cf,::[zj:jl;u&)c:.ug _}':?'_IJ
Note: you have four choices for each objective type question as A, B, C and D. The choice -Q/ZJ%.;UV
which you think is correct, fill that bubble in front of that question number, on bubbla sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1
(1) HCFof 13grs , 6pgr is:

(A) 3gr (B) 3pqr
(2) Thesymbol < stands for:

(A) Less than ¢ ke

(C) Less than or equal o & /it
(3) Solutionsetof |x - 3| =5 is:

(A) {-8.-2 } (B) {82}
{4) Factorization of 2x% - 3x g

(A) 0 (B) x(2x-3)
(5) Solution set ofpar?e=sdx.+ 6 = 0 is’

(A) {3} (B2

(6) Two matrices with the same orderand
equal corresponding elements are called:
(B) Diagonal matrices i} /s
(7) In a unit matrix, diagonal elements are:

(A) 3 (B) 2
(8) A straight angle contains:
(A) 90° (B) 180¢

(9) The medians of a triangle are:

(A} Concurrent )://,zzkg (B) Collinear &/
(10} Area of a square with side "5’ is;

(A) s (B) 4s
(11)  The coordinates of origin are:

(A) 0 (B} (1.0)
(12) (a=b)(a®> +ab+b2y=

(A) (a b )’ (B) (a+d)
(13) Surds can be multiptied if they are of the:

(A) Same order SasJik (B) Order2 G
(14) A cubic polynomial is of degree:

(A)0 (B) 1
(15) Factorization of x> + 33 is;

(A) (x=p)(x%+y?)

(€) (x=y)(x* ~xy+y7)

(C) Square matrices /6.7

| A Ay

,eﬁ;uﬁ 6pgr < 15grs (1)
(D) 15pgrs

b o< el Q)

(C) 3pqrs

(B) Equal to < /s
(D) Greater than or equal to <zlsb%
werff 1x-31=5 0 (3

©) {-8.2} o) {8.-2}
i 2% =3x )
(€) 2x% = 3x () 3x - 2x2
e ¥ R sx+6=0  (5)
€ f23} N -2l-34

_ugé.uf WM KON p S (B)
(A) Equal matrices —/B(fi~
(D) Unequal matrices «/5(§s4
BN ()
(D) 0 “

_c‘_{"ﬁgﬂb/..":«ﬂj (8)
(D) 360°

glrglbal sl (9)

(D} Four .

(C) 1
(C) 270°

(C) Non-concurrent &/ 4

ebiif st PRABA (10)
(C) 2s (D) s°
Ul nehslie (1)
(C) (0,0) Dy (0, 1)
(a - b)(a® +ab+b%)= _(19)
(€) & -5 (D) @ + b’

LUK-W%J';, JC L;dj.,ﬁfﬂ_nu'a (13)

(C) Different order u(u;?»_&f? (D) Order n . ;,( n 21
e twabdlns  (14)

(C) 2 (D)3

GRS B+ (1)
B) (x-y)(x*+x+)?)
@ (x+y)(x* —xp+y?)

34(0bj)( 3¢ VI I0)2019(5) ) IO (MULTAN)

.
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2019 (S) A

SSC PARTHI (10th CLASS)
GENERAL MATHEMAT!CS GROUP-il e ....,5/( f
TIME ALLOWED: 210 Hours SUBJECTIVE _¢L» om0 = 5
MAXIMUM MARKS: 60 60 = Af
NOTE: - Write same question number -l ~Jr,.,?£cb,/;] f/’JlermR ey

and its part number on answer book, as given in the question paper.

SECTION- Ji.o

2. Attempt any six parts. 12=2x6 iy T:a 2171 /"JLJ; 24
() If P(y)=3y? +§+9,thenﬁnd P(0) -u/'(:“’ P(0) W P(y)=3y*+2 1 2o fi (i)
(i)  Solve by using formula. (2x + 3y =+ 2)? (2 & By 2P -J»ff.»;u&.ﬁﬁ (i)
(i) Simplify (6 ++2)(5~3) (6 +2)(5-5) L7 i)
(v) Factorize 2a° - be — 2ab + ac 2a° ~ be - 2ab + ac -u‘:/rd}f- (iv)
(v} Factorize x* —x -2 2 -x-2. -_“fdf (v)
(vij Factorize 8y =733 gx2 - 32 _;_{,@’f (vi)
(vi)) Whatis meantby H.GF? e b (i)
i) Find HCF. 3x%)2, 122234, 15572 3007, 12057, 1560y Ll i
(ix) Find L.C.M by factorization. 2163y, 354°x%y, 28axy* -Jﬁw’uww j,m (ix)
3. Attempt any six parts. 12=2x6 ey _.,u:fzif m::.u 34
(i)  Whatis meant by Equations involving Radicals? “‘Lﬂ/g wildke ()
(i) Solve. 3(2x—1)=5(x 1) 32x - =5 -1 JAS i)
(i) Solve. Sx-6=4dx -2 Sx~6=4x-2 JAS (i)
(iv) Write the methods to solve the quadratic equation. Y. &’-/’éid-/ HethGoy ()
(v) Solve. (2x+3)(x—=2)=0 2 +3)(x-2)=0 LIS )
(vi) Solve. 3x* —10x+8=0 3x2 —10x +8=0 -u_ﬂ{)’ (Vi)
(vii) What is meant by Order of a Matrix? Sl 2 L 6 (vil
(viii) Define Column Matrix. o (i)
. a b i g . r“ WA “ ; o h —! # »

(ix) If 4= . , then what is the additive inverse of 47? ‘?@lefu’:%“"u 4 % A= dJ/l (ix)

c

(&)
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(2)
4. Attempt any six parts. 12=2x6 _égfaglﬁileg.;&/ _4/-,{)!/
()  Whatis meant by Vertical Angles? ?c;-Jf/.,,Mc-Ua’JUU' b i)
(i) Thesumoftwoanglesis 100° -/ PUBiUnl e 1000 B ytialw Lolie 1000 25Kupin (i)
and the difference between their supplements is 100°. Find the angles.

(ii) Define Parallel Lines. I FB i
(iv) What is meant by Direct Common Tangent? Sesplley VedS? (i)
(v)  Define Median of a Triangle. Il ek W)
(vi)  Find the third side of right triangle with i e dllyl b a ,,ﬁ.q/pbfé”.y&w,,lﬂw (vi)
legs @ and 5 and hypotenuse ¢ . g=5 c=13 =9
(vii) Define a Cuboid, ST I AT
(viii) Describe the location of point (-2, 4) on the number plane. ,q);;wu.“dﬁ-’duff (=2,4) 5 (vii)
(ix) Find the distance between points ( 2. 1), (-4, 3) (2,1), (-4,3) -{,ff(}"JwGug-wLLEJ (ix)

SECTION-I| (1.2
NOTE: Attemptany three questions. ~ 24=8x3 .ot felnlelivic (Y .o

1)? " 1% . ;

5(A) Find(x—;j f x=3+8 Eopedd (x—;] wox=3+8 S (U5
(B) Factorize x* -8 if x -2 isafactor A7 x =2 /lédfj -8 ()
6.(A)  Find HCF by division method. W e L ()6
Saesldx Sax + 10, 15%° {34xF +21x - 10
(B) Solve and check. 0.3x% 0.4'=0.28 x +1716 0.35+ Ovllme= (28 w6 -Q/Jt’f?»qud’ (&)
7.(A)  Solve by quadratic formula. 10x* — 5x =15 1052 — By 15 -éd"cugffdm (.7

UK 60° s 45° q;wgfug;uéuj/uiuiuu;m%‘ﬁ 5 cL" g el ape e (Q)
(B) Construct atriangle 4BC with base length 5 cm and the angles at both ends of the base
are 45% and 607,

1 2 . 1 21 »
8.(A) If M :[3 J  then verify that MM = MM SE ekl M= [3 4}/' ()-8
d
(B) Use Cramer's rule to solve the simultaneous equations. -q/ffu?fjp:mc.éf, 2L A/ ()

x+y=1, Sx+3y=2

9.A) Findtheareacfa o 6518 S AL YAy 25714 wRET12 Gaolbond P g Lozl ()9
parallelogram if its two adjacent sides are 12 cm and 14 cm and diagonal is 18 cm.
(B) Showthat the G B Wg AL C(=6,7) 4 B(2.7) ¢ A(6,1) si/Eet (L)
points 4(6,1), B(2,7) and C (-6, 7) are of a scalene triangle.
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PAPER CODE 2019 (S) A,

NUMBER: 3262 SSC PART-lI (10th CLASS)

GENERAL MATHEMATICS GROUP-II b < oad (Sl
TIME ALLOWED: 20 Minutes OBJECTIVE ;ﬁs/’y e 20 = 2
MAXIMUM MARKS: 15 15 = /u

¥ | /Lf/b.ah"du’ L 18 sz uul) c:.)d..Lfc.Cle;/gl{dL? -JZ.:_; D C:B:A -..«U:’.J:;/lpfd)/ Y
L34~ {;wLJu“/J!J“HJWud_./:J LR u’mr"hxuih;ﬁdvmoa__/z Lok b /f VISR LY
Note: you have four choices for each objective type question as A, B, C and D. The choice -L{).,J’);_,Lfy
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles wil; result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of CBJECTIVE PAPER.

Q.No.1 ; | 1 /'Uf_v*

(1) Ja = a2 isasurd of order, wf Ja=a2 Mg (1)
A 0 ®) 1 © 2 0 >

(2 (a+b) +(a-b)* =72 (a+b)Y +(a-b)Y2 =2 (2
(A 2(a*+5)  (B) 4ap (C) a* + b7 (0) —dab

(3) Factorization of K2 - 81 is: <GAS KT =81 (3)
(A) (K -9)? (B) (K +9)° (C)(K -9} K+9) (DK?-9

@) fPx)y=x"~2x> +5x +1 then P(1) =7 Py P(x)=x"-22+5x+1 S (4
(A) -5 (B) 5 (C) -7 (D)0

(5) The number of methods to find L.C.M. are: GRS P (5)
(A) 0 (B) 1 ()2 (D) 3

(6) The solution of linear inequality of x4 3(<7 s LSV F+3<T (6)
(A) x <4 (B ¥4 o XY (D) 1% >/10

(7) The solution set of | x <3 | = Swis: o (W-3|=5 (7)
A {-8-2 } B) {8.2} (€) {-8,2} 0){8,-2 }

(8) Factorization of 2x2 — 3x is: il 2“3 ()
(A) x (2x +3) (B) x (2x~3) () x* - 3x (D) .J»2+3x

(9) The solution setof (x —=1)° =4 i e ¥ (x=1)2 =4 (9)
A {-1,-3} (B) {1.3} €y {=1,3 } ©) {1,-3}

(10) Order of matrix E} s e/ [lﬂ S5 (10)
(A) 2x1 B) 1x2 (C) 3x1 (D) 1x3

(1) Formatrices 4 and B, (A4 + B ) is equaito: ..c“..t‘ﬁ/,b:cj_cc B o A i (A+B) (11)
(A) A (B) B (C) 4'B D) 4 + B

(12) If sum of the two angles is straight angle, then the angles are called: ng.u«fa.,wl.. i a3 bu)’)im/ (12)
(A) Vertical angles . si(5. (B) Supplementary angles é.JjJU/"{,v -
(C) Adjacent angles £ s/t (D) Complementary angles &l &

(13) Aline joining one vertex of a triangle and perpendicular to its opposite side ...f_tﬂfgy{;cw e grlads  (13)

is called:

(A) Angle Bisector i<l§.s  (B) Median .:b-s (C) Altitude (6.1 (D) Side Bisector J»K'“

(14) Volume of a right irculr cylnder is -‘f_rrfmwyw,&{ (14)

o mroh 2 nrth 4 -

(A) 3 (B) mrh (C) 5 Dy 3=

(15) The co-ordinates of the origin are: S lrehi i (15)
(A} (0, 0) {8)(1,0) (C)(0, 1) ()0
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'|PAPER CODE 2019 (S) A

NUMBER: 3264 SSC PART-II (10th CLASS)

GENERAL MATHEMATICS GROUP-II I - _.u/ o" LiJ 7
TIME ALLOWED: 20 Minutes OBJECTIVE u:‘i/‘”.ﬁ e 20 =
MAXIMUM MARKS: 15 15= Af

A L/LJE/JJWU’WéuL?J)JLJ 2 c':c..)z:.‘.tfc’.:J r;/d(d'i’ SE i oD s CBA uLl:’j)la.f.le’/ i
YEIE V] _if:._bhu“/g,fuf..’»"\fc/ :(u-/b fnr"ﬁk.., ;mﬁw_,mf./@ Jog L . f,fw, boslie i <&
Note: you have four choices for each objective type question as A, B, C and D. The choice -u‘/ J’/;_,Uiy
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 e . A Ay

(1) Order of matrix \‘3} is: ) L w S ()
(A) 2x1 (B) 1x2 (C) 3x1 D)1x3

(2) Formatrices 4 and B , (4 + B)" isequalto: -ag.tﬂxl.fci-c: B s 4 ui(4+B) (2
(A) A" (8) B' (C) 4'B' (D) 4’ + B )

(3) If sum of the two angles is straight angle, then the angles are called: _qri_llfi,ﬂl}?ﬁ(ftsli it gwjﬁ'i»/' (3)
(A) Vertical angles .sli(5%, (B) Supplementary angles a.;uj/"f“
(C) Adjacent angles & slik* (D) Complementary angles 11 / /

(4) Aline joining one vertex of a triangle and perpendicular to its opposite side -r_vuf !f/cp e guleds (4)

is called:

(A) Angle Bisector <#(€,1/].. (B) Median. .-t-» (C) Altitude {6/ _(D).Side Bisector . it§ &

(5) Volume of a right circular cylinder is: -;d“ﬂ({ ol (5)

n 2k 2 nr°h M

(A) == (B). 7 7 h (C) 5 (D) 3'rcr

(6) The co-ordinates of the origin are: Jlaehilily  (6)

o A (0,0) (B)(1, 0) (€)(0 1) (D) 0 |

(7} Ja = a2 isasurdof order. ek Jg-ar (e ()
(A) 0 (B) 1 (C) 2 (D)%

8) (a+b) +(a-b) =2 (a+b)yY +(a-b) =2 (8
(R 2(a>+6%)  (B)4ab ©) a® +b* (D) ~4ab

(9) Factorizationof K2 — 81 is; ~+d}gd/ K*-81 (9)
(A) (K —9)? (B) (K +9)° C)(K-9)(K+9) (D)K%-9

(10) If P(x)=x>-2x% + 5x +1 then P(1) =? P Px)=x =22 +5x+1 S (10)
(A) =5 (B) 5 (C) -7 (D)0 h

(11) The number of methods to find L.C.M. are: BB AL S P (1)
(A) 0 (8) 1 (C)2 (D) 3

(12) The solution of linear inequality of x + 3 <7 is: -QJV&:«I;L"A x+3<7  (12)
(A) x < 4 (B) x>4 (€} x <10 (D) x>10

(13) The solution setof | x —3 | =5 is: e f¥ | x-3|=5 (13)
A {-8-2) (8) {82} (©) {-82} D) {8.-2}

(14) Factorization of 2x% - 3x is. --’-d/f 2x% - 3x  (14)
(A) x (2% +3) (B) x (2x—3) (€) x* - 3x D) 2 +3x

(15) The solution setof ( x —1)% = 4 is; -Lv’u P§(x - 1)° =4 (15)
A{-1,-3 } ®) {13} © {-1,3} D) {1,-3
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PAPER CODE
NUMBER: 3266

GENERAL MATHEMATICS GROUP-II
OBJECTIVE (&0

TIME ALLOWED: 20 Minutes

2019 (S) A
SSC PART-l! (10th CLASS)

L - ;;}/ﬁ U'p Q}J/

&0 = =8

MAXIMUM MARKS: 15

15= A4f

ﬁc:..g)" ! LA WJWLHI?JJ'Q_J p’s/')z‘__)r..,..wgid'ff/um'i ..(_,:r_Lc...J D CB-A ._.Llf.«@w_ulr/ 0¥
{24 A uKC_(PLJJV//JQ}rduu r“'ud../,,/ !(}3/’1 {»’Jr‘JM._«: ou';v.... r"j&.)ﬁg Joy 4 H_./'/.,J/u: ’JuLJc:,uL* ci
Note: you have four choices for each chjective type question as A, B, C and D. The choice _J/,J"/‘.,,Llr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1
(1) Factorization of 2x% = 3x is:

(A) x (2x+3) (B) x (2x-3)
(2) The solution setof (x —1)% =4 is;

A {-1,-3} (B) {1,3 }

(3) Order of matrix [1} is:

| 3
(A) 2 x1 (B 1x2
(4) Formatrices 4 and 5 , (A + B)' isequal to:
(A) 4’ (8) B’

(5) If sum of the two angles is straight angie, then the angies are calied:

(A} Vertical angles shisl
(C) Adjacent angles & sl..é

(6) Aline joining one vertex.of a triangte and perpendicular to its opposite side

is called:
{A) Angle Bisector <i#té, s (B) Median -3
(7) Volume of a right circular cylinder is:

(A) E_f_:f?; (B) 7 ¥ h
3
(8) The co-ordinates of the origin are:
1 (A) (0, 0) (B){1,0)

——

(9) JVa =a2? isasurdoforder.
(A) 0 (B) 1

(10) (a+b) +(a—-b) =2
(A)2(a®> +b*)  (B) 4ab
{11) Factorization of K% -81 s
(A) (K - 9)° (B) (K +9)2
(12] [k P(xi= X —2x% £ 55 +1 then P(l)="7

A =3 (B) 5
{13) The number of methods to find L.C.M. are:
(A)0 (B) 1
(14) The solution cf linear inequality of x + 3 <7 s
(A) x <4 B)x>4
(15) The solution setof | x =3 | =35 is:
(A) {~8,~2} (B) {8,2 }

A Ay
-?—U'fi.; 2x% -3x (1)

(€) " -3¢ (D) 5 +3x
eerff(x-1)% =4 (2

€ {-1,3} (D) {1.-3}
1 E} < (3)

(C)3x1 (D) 1x3

ebuiid & B A A4 U4+ B) (4

(C) 4B (D) 4’ + B’

LMl AR pndi (5)
(B) Supplefmentary angles &1§24¢ -

(D) Complementary angles &l 7+
,c_"‘U-»»f/Cqu{c..Jf Lk (6)

() Altitude £/ (D) Side Bisector i#t¥E”
dcgz.'mz Gkl (7)

c) 2 ) 2nr?
2 b
Slnehsli  (8)
(C) (0, 1) (D) 0 |
b Jg=az (VW& (9)
(€) 2 ) 5
(a+b) +(a-06)=2 (10
(C) a* +.b° (D) —4ab
IPI7AY It TR T)
(CY(K ~9)(K+9) (D) K*-9

B P Py =2 —222+5c41 S (12)

(C) -7 (D)0
. ”L)d.,a./a"’”u I3kl (13)
(C)2 D) 3
-{;JO&'JJV/:; o (14)
(C) = <10 (D) x>10
e ff | x-3]|=5 (15)
€ {-8.2} (D) {8, -2 }
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PAPER CODE A
NUMBER: 3268

GENERAL MATHEMATICS GROUP-II
OBJECTIVE (5.2

2019 (S)
SSC PART-Il (10th CLASS)

L - ..A/' fLJJ/

TIME ALLOWED: 20 Minutes e 20 = =M
MAXIMUM MARKS: 15 15= AF
A h SAhH B3l e ne Ut w/bio AW er//d(db’ _u,‘;.,c,.; DsCB:A ..,LlfJJW:d’!‘/
EYE LYY Kb JUH/'/UJ’/JVJ!"’JQJ,.-} fuj/l ‘ffﬁ“’blf_«ffa,uuu.-._« IR 1 L L/,fw/num;w -5
Note: you have four choices for each objective type question as A, B, C and D. The choice (] &u"/f..JUJr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

0¥

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER. .

Q.No.1 Ay

(1) The number of methods to find L.C.M. are: GESLL S ()
(A) 0 (B) 1 (C)2 (D) 3

(2) The solution of linear inequality of x +3 <7 s: #f_J"K.:,l;L»/-f ok Jot 7 (2)
(A} x < 4 (B) x >4 (C) x <10 (D) x > 10

(3) The solution setof | x —~3 | =5 is: ey Py x-3]=5 (3)
A {-8-2} B) {8.2} C) {-82} {8—2}

(4) Factorization of 2x% — 3x is: _c_dfd 2x? -3x  (4)
(A) x (2x+3) (B) x(2x—3) (C) x* - 3x (D)x2+3x

(5) The solution setof ( x —1)> = 4is: e fE(x-1)° =4 (5)
A {-1,-3} B) {13} C)d-1,3} D) {1, <3}

(6) Order of matrix | | } is: - |rf } S (6)

3 £

(A) 2x1 L B)1x2 (C) 3x1 )y Eq

(7) Formatrices 4 and B, (A+ B)" isequalto: wq.tx/.*/.é;.f. B 4 A+ BY (7)
(A) 4 (8) B' (C) 4'B' (D) 4" + B

(8) If sum of the two angles is straight angle, then the angles are called:

(A) Vertical angles .sij1s
(C) Adjacent angles & sfike*

(9) Aline joining one vertex of a triangle and perpendicular to its opposite side

L W@injﬁﬁjf} r;r{ﬁ){;l)»ﬁ

(B) Supplementary angles &.s'J /_;L/
(D) Complementary angles &sjf #*
_L?W}rf/ciﬂjb’;u"liﬁulr‘

(8)

is called:
(A) Angle Bisector i#t§.s) (B) Median .:b-s (C) Altitude {61 (D) Side Bisector th{f’b
(10) Volume of a right circular cylinder is: -{_-L"ﬂf%au“t.fv"ﬂd—’ﬁg (10)
2 2 4
W B) = r%h © 2= D) 3777
(11) The co-ordinates of the origin are: ALl (1)
. (A)(0,0) (B)(1,0) (C)(0, 1) (D} 0 !
(12) Jy4 = 42 isasurd of order. ¥ Ja=a2 (& (12)
, 1
(A) 0 (B) 1 (C) 2 D) 5
(13) (a+b) +(a-b) =7 (a+b)+(a-b)2=2 (13)
(A) 2(a® +52)  (B) 4ab (C) a* + b* (D)-4ab
(14) Factorization of K2 — 81 is: -‘ade K% -81 (14)
(A) (K - 9)? (B) (K +9)? (C)(K-9)(K+9) (D)K?-9
(15) f P(x)=x> =2x% + 5x+ 1 then P(1) =" P P()=x>-222+5x41 S (15)

(A) =5 (B) &

(C) -7 (D)0

36(0bj)( W W I )-2019(S))C> (MULTAN)


http://www.result.pk/

	10251
	10231
	10232
	10233
	10235
	10237
	10239
	10241
	10242
	10243
	10245
	10247
	10249

